08-14
—

——

Lﬁ%//// e




6.9

08-14
—

0.751

!

0.8

%

OUIIOUTLY _

M3

<




6.9

0.8-14
—

0.751

!

0.8

2%

QUL _

M3

9

10




6.5

08-1.4

JUCIUIUTLY _

M3

0.8

]
'%/

0

12




7.5

08-14
—|

—

O.T5l

e

OUCIOUIOUITLY

M4

0.8

—_— H—

ff%////

6




7.5

0.8-14

——

0.75l

== S

QUL

M4

0.8

| |-

fﬁ%////

6

10




7.5

0.8-14

|

U.?5l

UL

M4

0.8

s

fﬁ%////

6

12




7.5

0.8-14

o

0.751

U

M4

0.8

s |

f%////

6

15




6.5

0.8-14
R

—

0.75 \

QUCIUIUTLY _

M3

0.8

| b

f%////

O

15




0.8-14
—

0.751

—

JW////

0.85

——

o

QUCIOUTLY

MS

7.5

10

7.1



0.8-14

—

0.751

e B

QUDOUTLY

M3

J%/////

0.85
=

[

15

7.1




0.8-14

0.75 \

——

f%///

0.85

) e

g

QUCIUOUTLY

M5

.9

12

¥



